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2% XIXI - Chemistry
Sheatin y PART - 11

ny ] NS and Question No. 24 is compulsory:

Why s Fluorine more reactive than other halogens? i 4 oo e
Why is Gd** ion colourless? L)

Give one test to differentiate the'coordination com: olinds.

[Co(NH.).C1]SO, and [Co(NH )sSO,]Cl i

Oxides like Ag,0 and HgO unéergo‘ge!f reduction. Why?

Although Graphite and Diamond are allotropes of ite i
diamond is hard. Why? l P carbon, graphite is soft whereas

Mention the uses of Potash alum,

bodxum_?etais crystallizes in BCC structure with edge length of the unit cell
4.3x107" cm. Calculate the radius of sodium atom.

What are the limitations of VB theory? |

Give the schematic representation of proper and improper alignment of reattant
for a general reaction A,+B, > 2AB!. ' |

PART - III

Answer any six questions and Question No. 33 is compulsory: 6x3=18
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Answerall the questions, ' ' ' Iy |
34) a) 1) What are'the main observations of Ellingham diagram?

35) a) i) The composition of a sample of Wurtzite is Fej 450, ;.

36) a) Write note on Zeolites. .

37) a) What is packing efficiency? CB[culat&‘tﬁé:-@_

b) 1) Calculate the equivalent weight of KMn

Cla55|_fy molecular crystals with an example for each type.
Describe the role of the following in the process mentioned.
1) Cryolite in the extraction of Aluminium ii) Iodine in the refining of Zirconium
Complete the following reactions: (i) B+NaOH —  (ii) SiCl +NH,; -
Show that for a first order reaction, the time required for 99.6% completion of
the reaction is nearly 10 times that required for half completion of the reaction.
Compare Lanthanides with'Actinides; IR T2
cxplain the dehydrating property of sulphuric acid with suitable example.
Which is more stable among Fe** and Fe**? Why?
Differentiate molecularity from order. k
Write the IUPAC names of thé'following ¢oordination compounds.
(i) Na,[Ni(EDTA)] (ii) [Co(en_)'}] (SO,); (i) [Pt(NH,),CI.NO,]

y PART - g

v

i) How will you identify borate radical? | { (OR). .
b) i) Drive the integrated equation for a zero order reaction A - Products. »
i) What is inert pair effect? ° ; o
Calculate the percentage of ions present in the form of Fe?*. =
i) What is pseudo first order reaction? Give an example. '
i) Explain Schottky defect. . :
i) Write the differences between mineral and ore.

b) i) What are inter halogen t:omgounds? Mention thei'rpropergi,e's, b
i) Give two uses of Helium. 1% . ] _ K

arrangement. - g

b) i) Explain the bleaching action and oxidizing natu
example. 3%

1) Why do d-block elements readily form

a) Write the postulates of Crystal field theor_,yia 4

a)y MnQ,” + 2H,0 + 3e” > MnO, +
b) 2MnO,” + 10Fe’* + 1cHts2

i) Inmetallurgy roasting of g
smelting Is done above |ts |
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